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Plot Sensor and FgRec Data
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]




Trend plot forP3-6_0
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P3-6

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

06:55 273 150. 0 E 1BRi&e06:55 BEh (RAERE)
07:45 273 150.0 & =| 1Ri%@07:45 Bzh (KRABHEEE)
08:50 273 150.0 & =| 1Ri%@08:50 Bxh (FkAIEREE)
09:50 273 150.0 BA| {Ri%@09:50 Bz (kAMEESE)
10:45 273 150. 0 5| 1Ri%e10:45 B CGREMEREE)
11:45 273 150.0 =l {Rige11:45 B3 (RAERSE)
12:30 273 150.0 Sl {Rige12:30 B3 (RAERSE)
13:15 273 150. 0 E| {Rige13:15 Bzh (RE{ERSE)
14:00 273 150.0 E BRige14:00 Bz CGRAERSE)
14:40 273 150.0 =l RRiB014:40 Bz (REAKEE)
15:25 273 150.0 E BRige15:25 Bz (GRAERESE)
16:15 273 150.0 F BRige16:15 Bz CGRAEREE)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 5.8

REREBIEC (2715.0) HigZEEC (2000.0) REK K, HHE
[B{&REC 5420.0 K5, ZEINF{KECAE&HRER

#[ERECE (2715.0 vs 5420.0) 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=47 (2025-05-15)
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178 Warning: lcol ['FVI',| "FVO'] missing
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-6

BFE) | GEBRTK () | Bl (EAH/ER) | XS R

11:25 273 150.0 FA| 1BRi&@11:25 B3h (RAHERESE)
12:05 273 150.0 PA| {Ri%e12:05 Bz (GRAEESE)
12:40 273 150.0 FA| 1Ri%e12:40 B (REERE)
13:15 273 150.0 (& =| 1BRige13:15 Bzh (REERESE)
13:50 273 150.0 | =| 1Ri%e13:50 Bz (kAEREE)
14:30 273 150.0 (& =| 1BRiBe14:30 Bzh (REEFREE)
15:10 273 150.0 |Z=| 1BRige15:10 Bzh (REERESE)
15:55 273 150.0 (2 =| {Ri&e15:55 Bz (RAEESE)
2it]2184.0 (8%) 1200. 0 3203 KEC: 2080.0, PH: 5.8

large discrepency for begining water status (292:120.0), set to 292 ml.

FEREEBIEC (2700.0) Hi&EEC (2000.0) RERK, BHE

#[EKECE (2700. 0 vs 4620.0) 5




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=46 (2025-05-14)

1 ey g g g B S

2¥do VLRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET [ 000

100 - 416

920 18571 1000
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Warning: lcol [FVI',| "FVO’'] missing 178

200 4
150 -

100 A

50 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.8

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-6

BfiE) | GEBIETIC (F) | EHME (BEAH/K) | XK R

05:50 273 150.0 [Z=| 1BRi8@05:50 Bzh (KEERESE)
06:35 273 150.0 (Z=| {Ri%@06:35 B (FEAHERHSE)
07:20 273 150.0 F[ BRi%e07:20 Ba1 (GRAERE)
08:45 273 150.0 | 1Ri%e08:45 B (RFEREE)
09:55 273 150. 0 E  1BRi&@09:55 B (RAERE)
10:50 273 150.0 S {Ri%@10:50 B3 (GRAERSE)
11:40 273 150.0 =l RRiB011:40 Bz (REAKEE)
12:20 273 150.0 | 1Rike12:20 B (KAL)
13:00 273 150.0 5| {Ri%e13:00 B3 (RAMERSE)
13:35 273 150.0 = {RRiB013:35 B (RFAKESE)
14:15 273 150. 0 E BRige14:15 Bz CGRAEESE)
14:55 273 150.0 5| {Ri%e14:55 B3 (RAERSE)
15:45 273 150.0 & =| 1Ri%e15:45 Bz (kAEREEE)
23t 3549.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.0

large discrepency for begining water status (294:138.0), set to 294 ml.

FEREEBIEC (2635.0) H5i&EEC (2000.0) REIRK, BHE

i# 8] /RECZE (2635.0 vs 3980.0) RS




P3-6_0, Day=45 (2025-05-13)

1 e g g e S S B S g

100 A

50

200 4
150 -

100 A

FRV (ml plant-1)

a1
o
]

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1760

1500
309

188 Warning: lcol ['FVI',| "FVO'] missing

Warning: lcol ["WC1',  "WC2'] missing

800 [ 2000

- 1000

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

ET (ml/hr/plant)
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cumET (ml/plant)

cumET (ml/plant)



m=460, FV0=0 m=500, FV0=0 m=530, FV0=0
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